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Unit 4 - Week 2

Course outline

Assignment 2

The due date for submitting this assignment has passed. Due on 2020-09-30, 23:59 IST.
As per our records you have not submitted this assignment.

How does an NPTEL online
course work?

Week 0: Pre-requisite
Assignment 1) The linear systemz + y = 2 = — y = 0 represents 1 point

Week 1 _ R . i
two lines in IR intersecting at a point.

Week 2
the same line in B2
Introduction to System of

Linear Equalions ) ) ) i
5 two parallel lines in [FEE, MO intersection.

Some Initial Resuliz on Linear o
Syst Mo, the answer is incorrect.
yslems Score: 0

Row Echelon Form (REF) Accepted Answers: |
fwo lines in BB* infersecting at a point.

#® LU Decomposition - Simplest

Form 2) The linear systemz +y =2 2z + 2y = 1 represents 1 point
Elementary Matrices
® Row Reduced Echelon Form two lines in B2 intersecting at a point.
(RREF)
Row Reduced Echelon Form the same line in [EEJ
(RREF) Continued
RREF and Inverse two parallel lines in R, NO intersection.
Quiz : Assignment 2 Mo, the answer is incorrect.
Score: 0
@ Activity Question-2 Accepted Answers:

i : 2 ;
® Lecture Notes-2 fwo paralle! lines in &=, NO infersection.

Feedback For Week 2 3) Thelinearsystems S:=z+y=2 z—y=0 2z —y=1andT:=z+y=2 z —y=0 2z + 2y = 1, respectively, represent inree lines in R? 7 point

Azzignment 2 Solufion
with both having NO point of intersection

Week 3 with both having a single point of intersection
Week 4 with 5 having a single point of intersection but T having no point of intersection
Week 3 with T" having a single point of intersection but .5 having no point of intersection
Week 6 QEDEQZEDEHSWEF I5 incorrect,
Accepted Answers:
Week 7 with S having a single point of infersection but T' having no point of intersection
Week 8 4) Consider the two statements given below. 1 point
Week 3 {I) B be a square invertible matrix. Then the system Ax = b and BAx = Bb are row-equivalent.
{Il) Suppose Ax = b and C'x = b have the same solutions for every b. Then 4 = C.
Week 10 Then, which among the following is a CORRECT Option?
Week 11 Statement (1) is TRUE whereas Statement (11) is FALSE
Both Statement (1) and Statement (I1) are TRUE
Week 12 Statement (1) is FALSE whereas Statement (Il) is TRUE

_ _ Both Statement (1) and Statement (Il) are FALSE
Live session

Mo, the answer is incorrect.

Score: 0

Accepted Answers:

Both Statement (1) and Statement (Il) are TRUE

VIDEDQ DOWNLOAD

5) -1 1 1
LetM = | —2 3 4 |.Suppose the application of the Gauss-Elimination Method to M gives LM = U7, where L is lower triangular, U7 is upper friangular
2 21

with L7y = —1 and L33 = —5 then the value of|Lga| equals ... ...

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

(Tkpe: Range) 394 1

1 point

6) 1 2
2 | andb = | 4 |.Ify is the solution of the system Ly = b and x is the solution of

—3 4

Let L =

b B
=
= e

Ux =y + 2es

thenthevalue of xo equals ... ...

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
(Tvpe: Range) 1.9.2.1

1 point

7) The parabola y = a + bz + cx? goes through the points (z, y) = (1, 4). (2, 8) and (3, 14) for certain values of a, band ¢. Then the value of Ta + 5b + ¢

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
(Tkpe: Range) 19.5, 20.5

1 point

8) The graph of y = az® + bz? + er + d passes through (1, 2), (—1, 6), (2, 3) and (0, 1) for certain values of a, b, c and 4 Then the value of
da+2b+3c+4dequals ... ...

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
{Tvpe: Range) 3.9.4.1

1 point

9) Let u—(1,1,—2)T and v = (—1, 2, 3)T. Then the condition on z, y and z such that the system cu + dv = (z, y, z)¥ inthe variables cand d is 7 point
consistent eguals

Tz —y+22=0
Tzr—y—3z=0
Tcr+y+22=0

Tz—y+3z=0
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
Tr—y+3z=10

10) Consider the lingar systemz +y+ z = 3,
Then the above system has a Unigue solution if ¢

r+2y+cz=4, 2z + 3y + 2ez = kinthe unknowns z, y and =.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
{Tvpe: Range) .9, 1.1

1 point



